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The 19th IMC International Mathematics Preliminary Contest (Taiwan)
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%35 5)4 1

% /5 2.9 (A)9000 (B)8000 (C)7000 (D)9600

£ 4 =100:150=2:3

Store Name | KiKi | NiNi | BoBo | CoCo
Weight(g) 300 600 | 1000 | 1500
Price(dollars) | 50 90 140 230

3. Joyce wanted to buy grapes and went to four fruit stores.
y y

Z
i

The prices for the same grapes they sell are shown in the table. Which one has the

cheapest grapes? (A) KiKi (B) NiNi (C) BoBo (D) CoCo
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( B )14. The distance between Chloe's house and her grandmother's house 1s 75 kilometers.
She leaves from home at 11 am and arrives at her grandmother's house at 2 pm. How

many kilometers per hour does she ride? (A)20 (B)25 (C)30 (D)35
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( A )20. The side lengths of the three squares are 3 cm, 4 cm and 5 cm respectively. What is
the area of the slashed part in square centimeters? (A)18 (B)20 (C)22 (D)24
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( ¢ )24. The right column is the division of positive integers, the remainder is 7, and the
number in the bold box is not 0. Find a+b-c-d=? (A)3 (B)4 (C)5 (D)6
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